Two shelves are 75cm and 87cm long.
What is their total length in metres?
What is the difference in their lengths in
centimetres?

A family sets off to drive 524 miles.
After 267 miles, how much further do they
have to go?

A potato weighs about 250g.
Roughly how much do 10 potatoes weigh?
How many times heavier is a 1kg potato?

A bottle of salad dressing holds 300 millilitres.
A tablespoon holds 15 millilitres.

How many tablespoons of dressing are in the
bottle?

A full jug holds 2 litres.
A full glass holds % of a litre.
How many glasses full of water will the jug fill?




Change this recipe for ginger nuts for 6 people
to a recipe for 12 people for a party.

125g flour
50g fat
/5g sugar
30ml treacle
1 teaspoon ground ginger

Each side of a regular hexagon is 14
centimetres long.
How long is its perimeter?

Susan got into the pool at 2:26.
She swam until 3 o'clock.
How long did she swim?

The pizza went in the oven at 1:35.
It cooked for 25 minutes.
What time did it come out?

The joint of meat went in the oven at 2:45.



It cooked for 1 hour and 10 minutes.
What time did it come out?

The cake went in the oven at 10:50.
It cooked for 70 minutes.
What time did it come out?

The Mathematics lesson lasts
55 minutes.

The lesson finished at 2:35p.m.
What time did the lesson begin?

Lunch takes 35 minutes.
It finishes at 12:55pm.
What time did lunch begin?

The Games Lesson takes 45 minutes.
The lesson begins at 11:10am.




At what time does the lesson end?

Mared got up at 7:35.

She left for school 45 minutes later.
Her journey took 15minutes.

What time did she arrive at school?

The swimming pool closed for repairs on Friday,
20 March.

It reopened on Friday, 10 April.

For how many weeks was the swimming pool
closed?




